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Q.1 Arrange the given words in the sequence in which they occur in the dictionary.
1. Indefinite

2. Indeed

3. Indecision

4. Indefatigable
5. Indelicate

Ans X 1.32451
X 2.32154
X 3.32145
" 4.32415

Question ID : 630680832475
Option 11D : 6306803260889
Option 21D : 6306803260891
Option 31D : 6306803260892
Option 4 ID : 6306803260890
Q.2 Aman is on 30th position from upwards and on 41th position from downwards in a class.
How many students are in the class?
Ans X 1.75
X 2.69
o 3.70
X 4.71
Question ID : 630680832349
Option 11D : 6306803260385
Option 2 ID : 6306803260388
Option 31D : 6306803260387
Option 4 ID : 6306803260386
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Q.3 In a certain code language, ‘NOTED’ is written as ‘ZAPKJ'. What is the code for ‘MOTOR’ in
that code language?

Ans X 1.NKQKI
X 2. NKPKJ
«” 3. NKPKI
25 4.NLPLI

Question ID : 630680832392

Option 11D : 6306803260560
Option 2 ID : 6306803260558
Option 31D : 6306803260557
Option 4 ID : 6306803260559

Q.4 In the following question, select the odd letter/letters from the given alternatives.
Ans  # 1.TON

X 2. JLH
X 3.BDZ
X 4.VXT

Question ID : 630680832529

Option 11D : 6306803261108
Option 21D : 6306803261105
Option 31D : 6306803261106
Option 4 1D : 6306803261107

Q.5 Consider the string given below made up of numbers from 0 to 9. How many 8’s are there at
the even numbered positions from the right?
18259728261927164972922815928

Ans 1.3
X 2.1
X 3.4
K42

Question ID : 630680832356

Option 11D : 6306803260416
Option 2 ID : 6306803260414
Option 3 ID : 6306803260413
Option 4 ID : 6306803260415

Q.6 A is the mother of B. B is the brother of C. C is the brother of D. D is the daughter of E. How
is D related to A?

Ans X 1.Father
& 2. Mother
/5 3.Son
«" 4. Daughter

Question ID : 630680832399

Option 11D : 6306803260586
Option 21D : 6306803260585
Option 31D : 6306803260588
Option 41D : 6306803260587
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Q.7 Select that missing pair (Third letter cluster : Fourth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and fifth letter
cluster is related to sixth letter cluster.

PQ:NS:?:ST:QV

Ans X 1.DE:CF

X 2.BF:Zl

" 3.ZA:XC

X 4 IK:FM
Question ID
Option 1 ID
Option 21D
Option 31D
Option 41D

1 630680832366

1 6306803260456
1 6306803260453
1 6306803260455
: 6306803260454

Q.8 In the following question, four letter pairs are given. The letters on left side of (-) is related
to the letters on the right side of (—) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans X 1.ECL - FEO
X 2.RIO - SKR
& 3.QUX - SXZ
X 4.TBH - UDK

Question ID
Option 1 ID
Option 21D

1 630680832411

: 6306803260635
1 6306803260634
Option 31D : 6306803260636
Option 4 ID : 6306803260633

Q.9 Seven friends namely - P1, P2, P3, P4, P5, P6 and P7 are living in a building of seven floors,
lowermost floor is numbered 1, floor above it is numbered 2 and so on till the top-most floor
which is numbered 7. Each person lives on a single floor. P1 lives on a floor numbered four.
No one lives below P7. Number of person who live between P6 and P1 are same as the
number of persons who live between P1 and P5. P2 lives four floor above P4. P6 lives above
P4, but not immediately above. P2 doesn't live on top floor. Who lives on floor numbered 6?

Ans X 1.P4
X 2.P5
o 3.P2
X 4.P3
Question ID : 630680832431
Option 11D : 6306803260716
Option 2 ID : 6306803260715
Option 31D : 6306803260713
Option 4 1D : 6306803260714
Q.10 Select that missing pair (Third letter cluster : Fourth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and fifth letter
cluster is related to sixth letter cluster.
CP:EN:?:QU:SS
Ans  # 1.EI:GG
X 2.BC:CA
X 3.XY:ZX
X 4.GH: JE
Question ID : 630680832324
Option 11D : 6306803260286
Option 2 ID : 6306803260285
Option 31D : 6306803260288
Option 41D : 6306803260287
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Q.11 Consider the five three letter words given below and the answer the questions based on it.
(Left) MCD BMC PIC ASU GMA (Right)

If all the letters of each word are replaced by the next letter as per the English alphabetical
order, then in how many newly formed words, there will be only one vowel?

Ans X 1.3
X 2.4
X 3.2
o 4.1

Question ID : 630680832477

Option 11D : 6306803260899
Option 21D : 6306803260900
Option 31D : 6306803260898
Option 4 ID : 6306803260897

Q.12 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.BCG

o 2. PRY
X 3.HIM
< 4.DEI

Question ID : 630680832448

Option 11D : 6306803260783
Option 21D : 6306803260781
Option 3 ID : 6306803260784
Option 41D : 6306803260782

Q.13 Seven boxesP, Q,R, S, T, U and V are placed one above the other. Only two boxes are placed
above box S. Only one box is placed between box V and S. As many as boxes are placed
between box V and T as between box T and P. Three boxes are placed between box Q and R.
Qis placed above R. If all boxes are arranged as per English alphabetical order from bottom
to top, then how many boxes retain their same position?

Ans X 1.0ne
X 2. Three
25 3. None
" 4. Two

Question ID : 630680832390

Option 11D : 6306803260550
Option 2 ID : 6306803260552
Option 31D : 6306803260549
Option 41D : 6306803260551

Q.14 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(RB, TD, WG)

(JO, LQ, OT)

Ans  # 1.(DG,FI,IL)
X 2. (PR, RU, TX)
< 3.(LM,0RQR)
% 4. (NX, PZ,SB)

Question ID : 630680832447

Option 11D : 6306803260778
Option 21D : 6306803260779
Option 31D : 6306803260780
Option 4 ID : 6306803260777
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Q.15 Consider the string given below made up of letters.
TOAHFGJMNUPKWIPJDOSKUEEHKAOQ

How many vowels are there immediately followed by consonant?
Ans X 1.4

o 2.6
X 3.5
X 4.3

Question ID : 630680832358

Option 11D : 6306803260423
Option 2 ID : 6306803260422
Option 31D : 6306803260421
Option 41D : 6306803260424

Q.16 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.FCD

X 2.ZWX
X 3.MJK
& 4.PBC

Question ID : 630680832330

Option 11D : 6306803260311
Option 21D : 6306803260309
Option 31D : 6306803260310
Option 4 ID : 6306803260312

Q.17 Select that missing pair (Third letter cluster : Fourth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and fifth letter

cluster is related to sixth letter cluster.
BR:YU:?:VX:SA
Ans X 1.RV:PW
X 2.IK:FO
X 3.YX:UA

& 4.DE: AH

Question ID : 630680832405

Option 11D : 6306803260611
Option 21D : 6306803260610
Option 31D : 6306803260612
Option 4 ID : 6306803260609

Q.18 In a certain code language, ‘JOBS’ is written as ‘NWJE' and ‘HIKS' is written as ‘NFDC'. What
is the code for ‘MEET’ in that code language?

Ans X 1.0YYH
X 2. OAAH
X 3.0zzI

" 4. 0ZZH

Question ID : 630680832433

Option 11D : 6306803260721
Option 21D : 6306803260723
Option 3 ID : 6306803260724
Option 41D : 6306803260722
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Q.19 ‘A + B’ means ‘A is the mother of B, ‘A — B’ means ‘A is the father of B’, ‘A x B’ means ‘A is
the sister of B, ‘A + B' means ‘A is the daughter of B. If N x K =R + S + T, then how is R
related to T?
Ans X 1.Daughter
& 2. Brother's Wife
X 3. Wife
o 4. Sister
Question ID : 630680832480
Option 11D : 6306803260911
Option 2 ID : 6306803260910
Option 31D : 6306803260909
Option 41D : 6306803260912
Q.20 In a certain code language, ‘BONEY’ is written as ‘46908’, ‘'NAME' is written as ‘3264,
‘BOMD’ is written as ‘8739’. What is the code for ‘A’ in that code language?
Ans X 1.4
X 2.6
3.2
X 4.3
Question ID : 630680832314
Option 11D : 6306803260248
Option 2 ID : 6306803260247
Option 31D : 6306803260246
Option 4 ID : 6306803260245
Section : General intelligence and Reasoning Ability 2
Q.1 Aseries is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
S,W,AE|I?
Ans X 1.K
X 2L
X 3.J
o 4. M
Question ID : 630680832334
Option 11D : 6306803260326
Option 2 1D : 6306803260328
Option 31D : 6306803260325
Option 4 1D : 6306803260327
Q.2 Six friends A, B, C, D, E and F sitting in a straight row facing towards north (not necessarily
in the same order). A sits fifth to the left of F. Three persons sits between A and B. B and D
are not immediate neighbours. C sits immediate left of D. Who sits third to the right of D?
Ans X 1.E
o 2. F
X 3.A
X 4.B
Question ID : 630680832426
Option 11D : 6306803260696
Option 2 1D : 6306803260695
Option 31D : 6306803260693
Option 4 1D : 6306803260694
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Q.3 Five persons A, B, C, D and E sitting in a straight line facing towards south (not necessarily
in the same order). A sits at one of the extreme end. D sits second to the right of B. E is not
an immediate neighbour of D. C sits second to the left of A. Who sits at an extreme end?

Ans 1. AE
X 2.AC
X 3.AB
X 4.AD

Question ID : 630680832307

Option 11D : 6306803260217
Option 21D : 6306803260219
Option 31D : 6306803260220
Option 4 ID : 6306803260218

Q.4 Select the option that is related to the fourth number cluster in the same way as the first
number cluster is related to the second number cluster and fifth number cluster is related to
sixth number cluster.
18:342::?7:702::31:992

Ans  # 1.26
<227
X 3.25
X 4.28

Question ID : 630680832343

Option 11D : 6306803260363
Option 21D : 6306803260362
Option 31D : 6306803260361
Option 4 ID : 6306803260364

Q.5 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

. NoLis M.

Il. No Mis N.

lll. Some P are N.

Conclusions:

. Some M are not L.
Il. AllL are P.

Ill. Some N are P.

Ans ¢ 1. Both conclusions | and Il follows
25 2. Both conclusions Il and 1l follows
25 3. Both conclusions | and Il follows

5 4. All conclusion follows

Question ID : 630680832323

Option 11D : 6306803260283
Option 2 ID : 6306803260282
Option 31D : 6306803260281
Option 4 ID : 6306803260284
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Ans

X1,

>4
4
LA
P

Q6 In the following question, select the odd figure from the given alternatives.

Question ID :

Option 11D

Option 31D

630680832336

: 6306803260333
Option 21D :

6306803260334

: 6306803260335
Option 41D :

6306803260336
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Q.7 After interchanging the given two signs and two numbers, what will be the value of the
given equation?
+and-,1and2;2-9x8+6+1
Ans X 1.13
X 2.9
& 3. 11

X 4.15

Question ID

Option11D:

Option 2 ID

Option 31D :

Option 4 ID

1 630680832379

6306803260505
1 6306803260506
6306803260507
1 6306803260508

by the numbers in the given set. (NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its constituent digits. E.g.13 -
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed.

not allowed)

(1,7,9)
(2,14,18)

Ans X 1.(32,144,288)
< 2.(15,105,115)
5 3.(5,95,75)
« 4.(31,217,279)

Q.8 Select the option in which the numbers shares the same relationship in set as that shared

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is

Question ID : 630680832385
Option 11D : 6306803260529
Option 2 ID : 6306803260532
Option 3 1D : 6306803260531
Option 4 ID : 6306803260530
Q.9 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
J,LLN,PR,?
Ans X 1.S
X 2.U
& 3T
X 4.Q
Question ID : 630680832452
Option 11D : 6306803260798
Option 2 1D : 6306803260800
Option 31D : 6306803260797
Option 41D : 6306803260799
Q.10 In the following question, select the missing number from the given series.
105, 116, 127, 138, 149, ?
Ans  # 1.160
< 2.158
X 3.157
&< 4.159
Question ID : 630680832540
Option 11D : 6306803261152
Option 2 ID : 6306803261150
Option 31D : 6306803261149
Option 41D : 6306803261151
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Q.11 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All P are Q.
Il.NoPisV.

Conclusion:
. Some V are P.
Il. Some Q are P.

Ans X 1. Neither conclusion follows
25 2. Only conclusion | follows
" 3. Only conclusion Il follows

/5 4. Both conclusions | and Il follows

Question ID : 630680832402
Option 11D : 6306803260600
Option 2 ID : 6306803260597
Option 31D : 6306803260598
Option 4 ID : 6306803260599
Q.12 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
E,C,AYW,?
Ans X 1.V
X 2.X
X 3.z
o 4.U
Question ID : 630680832373
Option 1 1D : 6306803260482
Option 2 1D : 6306803260483
Option 31D : 6306803260484
Option 4 ID : 6306803260481
Q.13 If 51 *78 @ 125 = 254 and 154 * 65 @ 99 = 318, then 151 * 182 @ 179 =?
Ans ¥ 1.512
/5 2.398
& 3.400
X 4.418
Question ID : 630680832377
Option 11D : 6306803260499
Option 2 1D : 6306803260498
Option 31D : 6306803260497
Option 41D : 6306803260500
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Q.14 Select the option that is related to the sixth number cluster in the same way as the first
number cluster is related to the second number cluster and third number cluster is related
to fourth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13 — Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
88:93::69:74::7:39

Ans  # 1.34

X 2.33
X 3.32
& 4.31

Question ID : 630680832422

Option 11D : 6306803260680
Option 21D : 6306803260679
Option 31D : 6306803260678
Option 4 ID : 6306803260677

Q.15 In the following question, select the missing number from the given series.
2,3,13,118,?

Ans X 1.1887
X 2.1886
< 3.1888
o 4.1889

Question ID : 630680832501

Option 11D : 6306803260994
Option 2 ID : 6306803260993
Option 31D : 6306803260995
Option 4 ID : 6306803260996

Q.16 Six boys F, G, H, |, J and L are sitting around a circular table facing towards the centre. | is
the third to the left of F. J and H are the immediate neighbours of I. L is to the immediate
right of J. Who is the immediate neighbour of L?

Ans X 1.G
X 2.1
& 3.F
X 4.H

Question ID : 630680832428

Option 11D : 6306803260703
Option 21D : 6306803260702
Option 31D : 6306803260701
Option 4 ID : 6306803260704
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Q.17 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All P are L.
IIl. NoPis J.

Conclusion:
. Some J are P.
Il. Some L are P.

Ans 4 1. Only conclusion Il follows
25 2. Neither conclusion follows
25 3. Both conclusions | and Il follows

/5 4. Only conclusion | follows

Question ID : 630680832521

Option 11D : 6306803261074
Option 21D : 6306803261076
Option 31D : 6306803261075
Option 41D : 6306803261073

Q.18 If 63 #32*29 =2 and 365 # 234 * 124 = 7, then 451 #312*56 =?
Ans  # 1.83

X 2.87
X 3.99
X 4.93

Question ID : 630680832378

Option 11D : 6306803260503
Option 21D : 6306803260501
Option 31D : 6306803260504
Option 4 ID : 6306803260502
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Q.19 A piece of paper is folded and punched as shown below in the question figures. From the given option figures, indicate

how it will appear when opened?

é QHRVmé

Ans

o 1

X 4

d4 JdP| A4 PP PP A]] AP AP
4P P ] PDP| PP Ad] D 4D

Question ID : 630680832495

Option 11D : 6306803260971
Option 21D : 6306803260969
Option 3D : 6306803260970
Option 4 ID : 6306803260972
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Q.20 Select the option in which the numbers shares the same relationship in set as that shared
by the numbers in the given set. (NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its constituent digits. E.g.13 -
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is
not allowed)

(20, 400, 8000)
(22, 484,10648)

Ans X 1.(18,324,5822)
o 2.(21,441,9261)
X 3.(19,361,3879)
X 4.09,72,81)

Question ID : 630680832424

Option 11D : 6306803260687
Option 2 ID : 6306803260686
Option 31D : 6306803260685
Option 4 ID : 6306803260688

Section : General Awareness 1

Q.1 Hunza, Nubra, and Shigar rivers are the tributaries of which of the following river?
Ans X 1.Godavari

«” 2. Indus
25 3. Brahmaputra
X 4.Ganga

Question ID : 630680830449

Option 11D : 6306803252891
Option 2 ID : 6306803252890
Option 3 ID : 6306803252892
Option 41D : 6306803252889

Q.2 Bioluminescence (the property of a living organism to emit light) is well marked in which of
the following phylum?

Ans X 1. Aschelminthes
«" 2. Ctenophora
25 3. Porifera

X 4. Coelenterata

Question ID : 630680830578

Option 11D : 6306803253408
Option 2 1D : 6306803253405
Option 3 ID : 6306803253407
Option 41D : 6306803253406

Q.3 Which of the following refers to the strong, gusty, hot, dry winds blowing during the day over
the north and northwestern India?

Ans X 1.Norwesters
& 2. Kaal Baisakhi

«" 3. loo
X 4. Mahawat

Question ID : 630680830370

Option 11D : 6306803252574
Option 21D : 6306803252576
Option 3 ID : 6306803252575
Option 4 ID : 6306803252573



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Ans X 1.Tolkappiyam
5 2. Ettutogai
«" 3. Manimekalai
25 4. Silappadikaram

Q.4 Which of the following Tamil epic describe the story of Kovalan and Madhavi's daughter?

Option 41D :

Question ID : 630680830401
Option 11D : 6306803252698
Option 21D : 6306803252700
Option 3 ID : 6306803252699
Option 41D : 6306803252697
Q.5 Kashmir stag and Tibetan antelope are found in which type of forest?
Ans X 1. Tropical Thorn Forests and Scrubs
5 2. Mangrove Forests
" 3. Montane Forests
75 4. Tropical Evergreen Forests
Question ID : 630680830407
Option 11D : 6306803252721
Option 2 ID : 6306803252723
Option 31D : 6306803252722
Option 4 ID : 6306803252724
Q.6 At which of the following places does Bhagirathi meet Alaknanda?
Ans X 1.Nand prayag
/5 2. Karn prayag
«# 3. Dev prayag
5 4. Vishnu prayag
Question ID : 630680830528
Option 11D : 6306803253208
Option 2 ID : 6306803253205
Option 31D : 6306803253207
Option 41D : 6306803253206
Q.7 Which of the following is NOT a source of Vitamin D?
Ans X 1.Egg
75 2. Fish
< 3. Liver
" 4. Orange
Question ID : 630680830539
Option 11D : 6306803253250
Option 2 ID : 6306803253252
Option 31D : 6306803253249

6306803253251
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Q.8 Which of the following is needed for the growth and repair of our body?
Ans  # 1.Proteins

X 2. Minerals
75 3. Vitamins
X 4. Starch

Question ID : 630680830381

Option 11D : 6306803252619
Option 21D : 6306803252620
Option 31D : 6306803252618
Option 41D : 6306803252617

Q.9 The RBI can influence money supply by changing the rate at which it gives loans to the
commercial banks. This rate is called the in India.

Ans X 1.Reverse Repo Rate

/5 2. Statutory Liquidity Ratio
/% 3. Cash Reserve Ratio

«" 4. Bank Rate

Question ID : 630680830515

Option 11D : 6306803253154
Option 2 ID : 6306803253155
Option 31D : 6306803253153
Option 4 ID : 6306803253156

Q.10 Bathukamma is a unique flower festival of which state of India?
Ans X 1.Goa

/5 2. Telangana
#5 3. Himachal Pradesh
" 4. Arunachal Pradesh

Question ID : 630680830365

Option 11D : 6306803252553
Option 2 ID : 6306803252556
Option 3 ID : 6306803252554
Option 4 ID : 6306803252555

Q.11 Originally, how many languages were included in the 8th Schedule of the Indian
constitution?

Ans X 1.18
X 2.10
X 3.22
o 414

Question ID : 630680830403

Option 11D : 6306803252707
Option 21D : 6306803252705
Option 3ID : 6306803252708
Option 4 ID : 6306803252706
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Q.12 Which of the following festivals is related to the Indian state of Kerala?
Ans X 1.Chhath

Option 41D :

& 2. Teegj
«” 3. Onam
X 4.Bihu
Question ID : 630680830366
Option 11D : 6306803252557
Option 2 ID : 6306803252558
Option 3D : 6306803252560
Option 4 1D : 6306803252559
Q.13 Which of the following is a micronutrient?
Ans X 1. Carbohydrates
X 2. Fats
" 3. lodine
X 4. Proteins
Question ID : 630680830580
Option 11D : 6306803253413
Option 2 ID : 6306803253416
Option 31D : 6306803253414
Option 4 ID : 6306803253415
Q.14 Which of the following is NOT a positive impact of science and technology?
Ans X 1.Better Communication
«" 2. Reduced Social Engagement
& 3. Enhanced Information Access
& 4. Efficiency Gains
Question ID : 630680830582
Option 11D : 6306803253421
Option 2 ID : 6306803253424
Option 31D : 6306803253422
Option 4 ID : 6306803253423
Q.15 The oldest Veda is the Rigveda, composed about years ago.
Ans X 1.8500
/5 2.2000
5 3.6500
«# 4.3500
Question ID : 630680830362
Option 11D : 6306803252544
Option 2 ID : 6306803252541
Option 31D : 6306803252543

6306803252542
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Q.16 The need for banks to keep some reserves in liquid form in the short term, is called which of
the following?

Ans X 1.Cash Reserve Ratio
" 2. Statutory Liquid Ratio
75 3.Repo Rate
/< 4.Bank Rate

Question ID : 630680830394

Option 11D : 6306803252669
Option 2 ID : 6306803252670
Option 31D : 6306803252671
Option 4 ID : 6306803252672

Q.17 Who among the following controls the monetary policy of India?
Ans X 1. National Bank For Agriculture And Rural Development

/5 2. Finance Minister
«” 3. Reserve Bank of India

75 4. Securities and Exchange Board of India

Question ID : 630680830356

Option 11D : 6306803252517
Option 21D : 6306803252519
Option 3 ID : 6306803252520
Option 4 ID : 6306803252518

Q.18 The proportion of Sikh population has declined by what percentage point (PP) during the
decade 2001-2011?

Ans X 1.06PP
& 2.02PP
X 3.08PP
X 4.04PP

Question ID : 630680830532

Option 11D : 6306803253223
Option 2 1D : 6306803253221
Option 3 1D : 6306803253224
Option 4 ID : 6306803253222

Q.19 Which of the following statements is correct about hydrogen sulphide (H,S)?
1. H,S is mainly known for its foul smell like rotten eggs.
II. It may cause fatigue of sense of smell only in short time.

Ans 4 1.Bothlandll

X 2.0nlyl

25 3.0nlyll
5 4. Neither I nor Il

Question ID : 630680830383

Option 11D : 6306803252627
Option 2 ID : 6306803252625
Option 31D : 6306803252626
Option 4 ID : 6306803252628
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Q.20 Lushailanguage is spoken in which state of India?
Ans 4 1. Mizoram

5 2. Jammu and Kashmir
/% 3. Uttarakhand
#5 4. Himachal Pradesh

Question ID : 630680830524

Option 11D : 6306803253192
Option 2 ID : 6306803253190
Option 31D : 6306803253189
Option 41D : 6306803253191

Section : General Awareness 2

Q.1 Sati was banned in which year in British India?
Ans  # 1.1829

X 2.1814
/5 3.1853
X 4.1820

Question ID : 630680830518

Option 11D : 6306803253167
Option 2 1D : 6306803253165
Option 31D : 6306803253168
Option 41D : 6306803253166

Q.2 In 1917 Mahatma Gandhi travelled to Champaran to inspire the peasants to struggle against
the oppressive plantation system. Champaran is located in which state of India?

Ans  # 1.Bihar
X 2. Maharashtra
/5 3. Gujarat
25 4. Punjab

Question ID : 630680830397

Option 11D : 6306803252681
Option 2 ID : 6306803252683
Option 31D : 6306803252682
Option 4 ID : 6306803252684

Q.3 Which of the following statements is correct regarding the qualifications for election as
President?
I. He is a citizen of India.
Il. He has completed the age of thirty-five years.

Ans X 1. Neither | nor Il
«" 2.Bothland |l
5 3.0nlyl
X 4.0nlyll

Question ID : 630680830537

Option 11D : 6306803253244
Option 2 ID : 6306803253243
Option 3 ID : 6306803253241
Option 4 ID : 6306803253242
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Q.4 Which of the following was the sex ratio in the economically active age group (15-59 years)
as per 2011 census?

Ans X 1.723
X 2.657
o 3.944
X 4.847

Question ID : 630680830571

Option 11D : 6306803253378
Option 2 ID : 6306803253377
Option 31D : 6306803253380
Option 4 ID : 6306803253379

Q.5 Which of the following statements is NOT correct about the Vice President of India?

Ans X 1.The Vice President may be removed from his office by a resolution of the Rajya Sabha
passed by a majority and agreed to by the Lok Sabha.

25 2. He takes over the office of the President when there is a vacancy by reasons of death,
resignation, removal by impeachment or otherwise.

«” 3. The Vice President acts as the exofficio Chairman of the Lok Sabha.

25 4.The Vice President is elected for five years.

Question ID : 630680830576

Option 11D : 6306803253399
Option 2 ID : 6306803253400
Option 31D : 6306803253398
Option 41D : 6306803253397

Q.6 The Global Biodiversity Framework (GBF) Fund was launched in which year?
Ans X 1.2020

X 2.2021
o 3.2023
X 4.2022

Question ID : 630680830467

Option 11D : 6306803252964
Option 2 ID : 6306803252963
Option 3 ID : 6306803252961
Option 4 ID : 6306803252962

Q.7 Which of the following institutions is not mentioned in the Constitution of India?
Ans X 1. Election commission

«" 2. Planning commission
#% 3. Union public service commission

#5 4. Finance commission

Question ID : 630680830375

Option 11D : 6306803252596
Option 21D : 6306803252595
Option 3 ID : 6306803252594
Option 4 ID : 6306803252593
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Q.8 National Mission on Edible Oils — Oil Palm was launched in which of the following year?
Ans X 1.2023

X 2.2018
X 3.2015
o 4.2021

Question ID : 630680830390

Option 11D : 6306803252656
Option 2 ID : 6306803252654
Option 3D : 6306803252653
Option 4 ID : 6306803252655

Q.9 Who among the following was the founder of Rashtrakuta dynasty?
Ans X 1.Vasudeva Chauhan

25 2. Pulakeshin |
25 3.Gopala
" 4. Dantidurga

Question ID : 630680830440

Option 11D : 6306803252856
Option 2 ID : 6306803252855
Option 31D : 6306803252853
Option 4 ID : 6306803252854

Q.10 The Ministry of Health and Family Welfare launched a nationwide Universal Drug
Administration (MDA) campaign to eliminate which of the following diseases?

Ans X 1. Pelvic cancer
«" 2. Lymphatic Filariasis
/5 3. Sickle cell anemia

25 4. Japanese Encephalitis

Question ID : 630680830432

Option 11D : 6306803252823
Option 2 ID : 6306803252822
Option 3 ID : 6306803252824
Option 4 ID : 6306803252821

Q.11 Compulsory acquisition of property was omitted by which constitutional amendment act of
India?

Ans  # 1. Forty-fourth Amendment Act
X 2. Twenty-fourth Amendment Act
/5 3. Seventh Amendment Act
#5 4. Thirty-sixth Amendment Act

Question ID : 630680830454

Option 11D : 6306803252912
Option 2 1D : 6306803252910
Option 3 ID : 6306803252909
Option 41D : 6306803252911
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Q.12 Maharashtra Government 'Lek Ladki' scheme is effective for girls born after which year?
Ans X 1.1 April 2020

22,15 April 2021
2 3,15t April 2022
o 4. 15U April 2023

Question ID : 630680830348

Option 11D : 6306803252488
Option 21D : 6306803252487
Option 3D : 6306803252486
Option 4 ID : 6306803252485

Q.13 Which among the following city hosted India's opening two home matches in the FIFA World
Cup 2026 and AFC Asian Cup 2027 Preliminary Joint Qualification Round 2?

Ans X 1.Nasik
" 2. Bhubaneswar
5 3. Kolkata
75 4. Bhopal

Question ID : 630680830465

Option 11D : 6306803252956
Option 2 ID : 6306803252953
Option 3 ID : 6306803252955
Option 4 ID : 6306803252954

Q.14 International Conference on Spacecraft Mission Operations (SMOPS-2023) was organized
by the Indian Space Research Organization (ISRO) in collaboration with which of the
following organizations in June 2023?

1. Italian Space Agency
Il. International Academy of Astronautics

Ans X 1.0nlyll
X 2. Neither I nor Il

/< 3.0nly |
«” 4.Bothland Il

Question ID : 630680830393

Option 11D : 6306803252666
Option 21D : 6306803252668
Option 31D : 6306803252665
Option 4 ID : 6306803252667

Q.15 In which of the following year Babur defeated the Sultan of Delhi, Ibrahim Lodi, at Panipat?
Ans X 1.1320

< 2.1387
o 3.1526
X 4.1497

Question ID : 630680830479

Option 11D : 6306803253009
Option 2 ID : 6306803253010
Option 31D : 6306803253012
Option 41D : 6306803253011



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play

GET IT ON
Q.16 Odia scientist Swati Nayak won which of the following international awards in September
2023?
Ans X 1. Champions of the Earth
25 2. Nobel peace prize
25 3. Goldman Environmental Prize
" 4. Norman Borlaug Field Award
Question ID : 630680830346
Option 11D : 6306803252478
Option 2 ID : 6306803252477
Option 31D : 6306803252480
Option 4 ID : 6306803252479
Q.17 When was the 'Mera Yuva Bharat (MY Bharat) platform for youth of the India launched?
Ans X 1.October 31st 2021
/5 2. October 31st 2020
«" 3. October 31st 2023
/5 4. October 31st 2022
Question ID : 630680830469
Option 11D : 6306803252971
Option 2 ID : 6306803252972
Option 31D : 6306803252969
Option 4 ID : 6306803252970
Q.18 Which article of the Indian Constitution provides for abolition of titles?
Ans X 1. Article 22
/5 2. Article 23
5 3. Article 15
" 4. Article 18
Question ID : 630680830373
Option 11D : 6306803252587
Option 2 ID : 6306803252588
Option 31D : 6306803252585
Option 4 ID : 6306803252586
Q.19 What is the name of the program announced by the Government of India to connect Indian
STEMM diaspora with Indian higher educational institutions in June 2023?
Ans  # 1. VAIBHAV Fellowship
X 2. Gandhi Fellowship
/5 3. Dr. Babasaheb Ambedkar National Research Fellowship (BANRF)
#5 4. JC Bose fellowship
Question ID : 630680830431
Option 11D : 6306803252817
Option 2 1D : 6306803252820
Option 31D : 6306803252819
Option 41D : 6306803252818



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.20 Khelo India Youth Games (KIYG) 2023 was held in how many cities of Tamil Nadu from
January 19-31, 2024?

Ans X 1.9
2.4
X 3.6
X 4.8

Question ID :
Option 11D :

Option 2 ID

Option 31D :

Option 41D

630680830344

6306803252472
1 6306803252469
6306803252470
1 6306803252471

Section : Arithmetical and Numerical Ability 1

the article?

Ans X 1. Rs. 2400

Q.1 Anitemis sold for Rs. 1248 after two successive discounts of 20 percent and 40 percent. What is the marked price of

Option 41D

X 2. Rs. 2500
« 3. Rs. 2600
# 4. Rs. 2800
Question ID : 630680831615
Option 1 1D : 6306803257506
Option 2 ID : 6306803257507
Option 3 ID : 6306803257505
Option 4 ID : 6306803257508
2 . =
92 \What is the value of 5.2437
Ans 4719
L1 —
900
4719
Ko 2
09
5243
K3 —
00
5243
P Np——
000
Question ID : 630680831721
Option 1 D : 6306803257931
Option 2 ID : 6306803257929
Option 3 ID : 6306803257932

: 6306803257930
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Q3 The line chart given below shows the number of pens sold by 7 shops.
65

60

34

42
35
27

18

What is the total number of pens sold by A, B, C and D?

Ans 1156
X 2. 140
<3 180
X4 185
Question ID : 630680831596
Option 1 1D : 6306803257430
Option 2 ID : 6306803257429
Option 3 ID : 6306803257431
Option 4 ID : 6306803257432
Q.4
What is the value of [£+ l+1J>{£+1}?‘
2 4 8 3 5
Ans 1. /15
<2 16/30
<3 18/15
X 4.9/30

Question ID : 630680831600

Option 11D : 6306803257445
Option 21D : 6306803257448
Option 3 ID : 6306803257447
Option 4 ID : 6306803257446

Q.5 Asum invested at the same rate of compound interest (compounded annually) becomes I 1800 in 3 years and Z 7200 in
6 years. What is the sum?

Ans  X1.F 900
o 2. 2450
X 3. 2500
X 43600

Question ID : 630680831712

Option 11D : 6306803257895
Option 2 ID : 6306803257896
Option 31D : 6306803257893
Option 4 ID : 6306803257894
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Q.6  Asingle discount of 50 percent is given on the marked price of an article of ¥ 1050. If two successive discounts of 40
percent and 10 percent are given, then what will be the difference between both the selling prices?

The line chart below shows the salary (in ¥ thousands) of 7 employees (A, B, C, D, E. F and G)
of a company for the year P and Q. ’

450

——P —Q

‘What is the ratio of salary of A to the salary of C in vear P?

Ans X1, 7 36
<2 Z38
X3 740
W4 F 42
Question ID : 630680831816
Option 11D : 6306803258312
Option 21D : 6306803258311
Option 31D : 6306803258310
Option 41D : 6306803258309
Q.7

Ans K 1.1:5
w2 1:3
X3 1:2
K4al:4
Question ID : 630680831757
Option 11D : 6306803258076
Option 2 ID : 6306803258073
Option 31D : 6306803258075
Option 41D : 6306803258074
Q.8 6 7 7 6 . . 1 2
Among —., —, — and —, how many of these fractions lie between — and —?
7 8 15 13 2
Ans X111
X2 3
X3 4
W4 0
Question ID : 630680831605
Option 11D : 6306803257467
Option 21D : 6306803257465
Option 31D : 6306803257468
Option 41D : 6306803257466
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Q9 Which of the following number is divisible by 12?
Ans X' 1. 5636
X 2. 8572
X 3. 4048
¥4 7344

Question ID : 630680831764

Option 11D : 6306803258103
Option 2 ID : 6306803258102
Option 31D : 6306803258104
Option 41D : 6306803258101

Q.10 The given pie chart shows the monthly expenditure of a family for a particular month. Expenditure done on a particular
item is shown in terms of percentage with respect to total expenditure done on the given items.
The total monthly expenditure for the given month is Rs. 72000.

Rent
20%

The expenditure done on food and rent together is approximately what percent more than the expenditure done on
education and rent together?

Ans X 1. 52.52 percent
X 2. 64.64 percent
o 3. 72.73 percent
X 4. 38.38 percent

Question ID : 630680831635

Option 11D : 6306803257588
Option 2 ID : 6306803257586
Option 3 ID : 6306803257585
Option 4 ID : 6306803257587

Q1 What is the value of 0.961 +~ 0.31?

Ans 1. 3.1

< 2.0.31
X3 3]

X 4310

Question ID : 630680831799

Option 11D : 6306803258243
Option 21D : 6306803258244
Option 31D : 6306803258242
Option 4 ID : 6306803258241
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Q.12

Ans

The pie chart given below shows the marks obtained by a student in 6 different subjects. The total marks obtained by the

student is 800. The marks of every subject is shown as a percentage of the total marks obtained in these 6 subjects.
A
6%

16%

What is the ratio of the marks obtained in C to the marks obtained in F?
1. 2:1
X2 4:1
X3 3:1
X4.2:3

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680831598

6306803257437
6306803257439
6306803257438

1 6306803257440

2746.8. What will be the annual rate of interest at which X invested his money?

Q.13 X invested Z 7000 for 2 years at compound interest (compounded annually) in a company which paid him interest of

Ans 1. 20 percent
X 2. 24 percent
X 3. 15 percent
o 4. 18 percent
Question ID : 630680831714
Option 11D : 6306803257902
Option 2 ID : 6306803257904
Option 3 ID : 6306803257903
Option 4 ID : 6306803257901
Q14 ¥Which of the following numbers is divisible by 247
ans X 1. 7472
X 2. 4892
X 3. 5848
4 6744
Question ID : 630680831682
Option 11D : 6306803257775
Option 2 ID : 6306803257776
Option 31D : 6306803257773
Option 4 ID : 6306803257774
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@15 What is the value of 113 + 133 + 153 = .. +29%9
Ans X 1. 89800
X 2. 97800
X 3. 96800
& 4 99300

Question ID : 630680831646

Option 11D : 6306803257632
Option 2 1D : 6306803257630
Option 3D : 6306803257629
Option 4 ID : 6306803257631

Q.16 The average weight of 23 students is 59 kg. After including a new student in that group the average weight rises by 1.5
kg. What is the weight of the new student?

Ans X 1. 99 kg
X 2. 100 kg
3 95kg
X4 98 kg

Question ID : 630680831668

Option 11D : 6306803257718
Option 21D : 6306803257719
Option 31D : 6306803257717
Option 41D : 6306803257720

Q.17 Inhow many years will a sum of Z 17000 give compound interest (compounded annually) of T 7480 at the rate of 20
percent per annum?

Ans X1
X2 4
&3 2
X4 3

Question ID : 630680831793

Option 11D : 6306803258220
Option 21D : 6306803258219
Option 31D : 6306803258218
Option 4 ID : 6306803258217

Q.18 The average height of M, N and O is 152 cm. If the average height of M and N is 140 cm and the average height of N
and O is 129 cm, then what is the height of N?

Ans X 1. 61 cm
X 2. 65cm
« 3. 82 cm
<4 71 cm

Question ID : 630680831587

Option 11D : 6306803257394
Option 2 ID : 6306803257393
Option 3 ID : 6306803257396
Option 41D : 6306803257395
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Q.19 A boy spends % 45 to purchase toffees at ¥ 1.50 each. Next day. he purchased some toffees for ¥ 90 with a discount of 25
paise per toffee. What is the average price per toffee?

Ans X' 1. 1.26
X2 3114
X3 T 148
o 4 2 1.32

Question ID : 630680831749

Option 11D : 6306803258043
Option 2 ID : 6306803258044
Option 3D : 6306803258042
Option 41D : 6306803258041

@20 What is the value of 13+ 23+ 33 + . + 103
Ans 1. 3025

< 2 3525

< 34025

X 4 3925

Question ID : 630680831763

Option 11D : 6306803258098
Option 2 ID : 6306803258099
Option 31D : 6306803258097
Option 4 ID : 6306803258100

Section : Arithmetical and Numerical Ability 2

Q.1  The difference between the compound interest (compounding half yearly) for | year and the simple interest for | year
on a certain sum lent out at the annual rate of 50 percent is Rs.1250. What is the sum?

Ans /1. Rs. 20000
X 2. Rs. 25000
X3 Rs. 27000
X 4. Rs. 30000

Question ID : 630680831671

Option 11D : 6306803257730
Option 2 ID : 6306803257729
Option 31D : 6306803257731
Option 4 ID : 6306803257732

Q.2 The ratio of milk and water in three cups is in the ratio L1 : 10, 10 : 13, 2: L, respectively. 21 litres of first
and 23 litres of second cup are taken. How much quantity from the third cup should be taken so that the
final mixture from the three cups will have milk and water in ratio 1 : 1?

Ans X 1.3 litres
X 2.9 ljtres
« 3. 6 litres
X 4. 12 litres

Question ID : 630680831780

Option 11D : 6306803258166
Option 21D : 6306803258167
Option 3 ID : 6306803258165
Option 4 ID : 6306803258168
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Q3 1f(8/3)T =3V =(3/8)S, then what is the value of T : V: §?
Ans X 1. 0:7:63

w2 9:8:064

K3 63:9:7

K48:6:3

Question ID : 630680831617

Option 11D : 6306803257514
Option 21D : 6306803257513
Option 31D : 6306803257516
Option 4 ID : 6306803257515

Q.4  The profit earned on selling an article is 200 percent of the cost price. IF the cost price increases by 50 percent and the
selling price remains the same, then the new profit is what percent of the selling price?

Ans 1. 80 percent
X 2. 150 percent
X 3. 120 percent
« 4. 50 percent

Question ID : 630680831774

Option 11D : 6306803258142
Option 21D : 6306803258141
Option 3D : 6306803258144
Option 4 ID : 6306803258143

Q.5 By selling 100 pens for Rs. ¥ 1800 a retailer loses 10 percent. To make a profit of 20 percent, how many pens should he
sell for Rs. 14407

Ans .21 B0
X2 66
X 3. 50
X472

Question ID : 630680831813

Option 11D : 6306803258298
Option 2 ID : 6306803258300
Option 31D : 6306803258299
Option 4 ID : 6306803258297

Q.6  If price of each apple is increased by 60 percent, then a person can buy 12 apples less for Rs. 64. What is the original
price of an apple?

Ans X 1. Rs. 4
X2 Rs.8
X3 Rs.3
&4 Rs.2

Question ID : 630680831651

Option 11D : 6306803257651
Option 2 ID : 6306803257650
Option 31D : 6306803257652
Option 4 ID : 6306803257649
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Q.7 25 percent of 44 percent of a number is 121. What is the value of 16 percent of that number?
Ans X1 210

X 2. 200

« 3. 176

X4 194

Question ID : 630680831688

Option 11D : 6306803257800
Option 2 ID : 6306803257799
Option 31D : 6306803257797
Option 4 ID : 6306803257798

Q.8  Vivek starts moving at the speed of 64 km/hr at 10:00 am. Neeraj starts moving after 3 hours of Vivek at the speed of 96
kn/hr. Both Vivek and Neeraj started from the same point and moved in the same direction. Which of the following
statement(s) is/are correct?

1. Neeraj and Vivek meet each other at 7 pm.
1I. Total distance covered by both Neeraj and Vivek till 6 pm is 992 km.

Ans X 1. Only I
X2 OnlyI

X 3. Neither I nor II
« 4 BothIand IT

Question ID : 630680831706

Option 11D : 6306803257870
Option 21D : 6306803257869
Option 31D : 6306803257871
Option 4 ID : 6306803257872

Q.9 Ifanumber Z1 is 95 percent less than another number Z2 and Z2 is 5 percent more than 3200, then what is the value of
z1?

Ans  X1.172
¥ 2 168
X 3. 156
X 4. 166

Question ID : 630680831647

Option 11D : 6306803257634
Option 2 1D : 6306803257635
Option 3 ID : 6306803257636
Option 41D : 6306803257633

Q.10 Two pipes A and B can fill an empty tank alone in 90 hours and 135 hours respectively. Pipe C alone can empty that
completely filled tank in 108 hours. At first both pipes A and B are opened and after 48 hours pipe C is also opened. In
how much time from the beginning will the tank be completely filled?

Ans X' 1. 52 hours
X 2. 55 hours
X 3. 50 hours
+ 4. 60 hours

Question ID : 630680831622

Option 11D : 6306803257536
Option 21D : 6306803257533
Option 31D : 6306803257534
Option 41D : 6306803257535
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Q11 A car is moving at a speed of 70 m/s. What will be the speed of this car in km/hr?

Ans 1. 252 km/hr
< 2. 240 knv/hr
<3 264 km/hr
K 4276 km/hr

Question ID : 630680831623

Option 11D : 6306803257538
Option 2 ID : 6306803257537
Option 3 ID : 6306803257539
Option 4 ID : 6306803257540

Q.12 Two people S and U are at a distance of 120 km from each other at 11:45 am. After 15 mins, S starts moving towards U

at a speed of 24 km/hr while at 2 pm, U starts moving away from S (in the same direction) at a speed of 20 km/hr. At
what time will they meet on the next day?

Ans 1. 8:00 am
X 2.5:00 am
X 3.10:00 am
A 4. 9:00 am

Question ID : 630680831785

Option 11D : 6306803258188
Option 21D : 6306803258187
Option 31D : 6306803258186
Option 4 ID : 6306803258185

Q13 1fx =(2/3)v and v = (3/4)z, then what is the value of x : v : 2?
Ans X'1.5:3:2

K2 2:5:3
X3 2:3:5
Wwa 2304

Question ID : 630680831778

Option 11D : 6306803258160
Option 2 ID : 6306803258159
Option 3 ID : 6306803258158
Option 41D : 6306803258157

Q.14 The radius of a circle is increased by 25 percent. What will be the percentage increase in its area?

Ans 1. 50 percent

X 2. 62.5 percent
X 3. 45.5 percent
« 4. 56.25 percent

Question ID : 630680831649

Option 11D : 6306803257641
Option 2 1D : 6306803257643
Option 3 ID : 6306803257644
Option 4 ID : 6306803257642
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Q.15 The speed of stream is 20 kimv/hr and the speed of boat in still water is 25 ki/hr. How much total time will boat take to
cover the distance of 4 km upstream and 9 km downstream?

Ans  X1. 1.5 hours
+ 2.1 hour
X 3. 5 hours
X 4.3 hours

Question ID : 630680831824

Option 11D : 6306803258342
Option 21D : 6306803258341
Option 3D : 6306803258344
Option 4 ID : 6306803258343

Q.16 Palone can complete a piece of work in 36 days. Q and R together can complete the same work in 45 days. In how
many days can P, Q and R together complete the same work?

Ans X 1. 22 days
« 2. 20 days
X 3. 25 days
X 4. 15 days

Question ID : 630680831701

Option 11D : 6306803257849
Option 21D : 6306803257851
Option 31D : 6306803257852
Option 41D : 6306803257850

Q.17 Ifthe time period increases by 15 years, then simple interest increases by ¥ 7500 on a sum of ¥ 2000. What is the annual
rate of interest?

Ans 1. 33 percent
X 2. 32 percent
X 3. 20 percent

& 4. 25 percent

Question ID : 630680831750

Option 11D : 6306803258046
Option 2 ID : 6306803258045
Option 3 ID : 6306803258048
Option 4 ID : 6306803258047

Q.18 The ratio of number of boys and girls in a college is 9 : 2. If 20 boys leave the college and 20 more girls join the
college. then their ratio becomes 8 : 3. What is the initial number of boys in the college?

Ans X1, 20
« 2. 180
X3 120
X 4. 160

Question ID : 630680831819

Option 11D : 6306803258324
Option 2 ID : 6306803258322
Option 31D : 6306803258323
Option 41D : 6306803258321
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Q.19 If9 times of selling price of an article is equal of 10 times the cost price, then what is the profit percentage? (correct to
two decimal places)

Ans 1 11.11 percent
X 2. 9.09 percent
~ 3. 10 percent
X 4. 15 percent

Question ID : 630680831732

Option 11D : 6306803257973
Option 2 ID : 6306803257974
Option 31D : 6306803257975
Option 4 ID : 6306803257976

Q.20 7.Kand L are three students. J got 52 percent less marks than K and 56 percent more marks than L. IfK got 1300
marks, then what are the marks got by L?

Ans 1. 400
X 2420
X3 410
X 4 430

Question ID : 630680831730

Option 11D : 6306803257966
Option 2 1D : 6306803257967
Option 3 ID : 6306803257965
Option 41D : 6306803257968

Section : Test of English Language and Comprehension 1

Q.1 Choose the correct synonym of the word given below.
Prevaricate

Ans X 1.prepare
25 2. ponder
25 3. truthful

” 4. deceive

Question ID : 630680830231

Option 11D : 6306803252030
Option 21D : 6306803252031
Option 31D : 6306803252029
Option 4 ID : 6306803252032

Q.2 Select the most appropriate option for the given blank.
The hiker decided to his soul by spending a week in the wilderness.

Ans X 1.bore
5 2. bear
«” 3. bare
X 4. boar

Question ID : 630680830067

Option 11D : 6306803251407
Option 2 ID : 6306803251406
Option 3 1D : 6306803251405
Option 4 ID : 6306803251408
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Q.3 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

Now that the other team has lost its star player due to injury, we really have a position of
advantage over them.

Ans X 1.Pulled a few strings
«" 2. Have the upper hand
5 3. Know which way the wind blows
25 4. Bear fruit

Question ID : 630680830060

Option 11D : 6306803251379
Option 2 ID : 6306803251378
Option 3 ID : 6306803251377
Option 41D : 6306803251380

Q.4 Select the most appropriate option to fill in the blank.
She grasped his hand in gesture of sympathy.

Ans X 1.No article
X 2.An
o 3.A
& 4. the

Question ID : 630680830078

Option 11D : 6306803251448
Option 2 ID : 6306803251446
Option 3 ID : 6306803251445
Option 4 ID : 6306803251447

Q.5 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To run the gauntlet

Ans X 1.To mediate between two parties
25 2. To run a difficult task
«” 3. To undergo severe criticism or attack

5 4. To run half heartedly

Question ID : 630680830229

Option 11D : 6306803252023
Option 21D : 6306803252021
Option 31D : 6306803252022
Option 4 ID : 6306803252024

Q.6 Select the most appropriate option for the given blank.
My science teacher is my model.

Ans X 1.Robe
&< 2.Roll

25 3. Rope
«” 4. Role

Question ID : 630680830110

Option 11D : 6306803251569
Option 2 ID : 6306803251571
Option 31D : 6306803251570
Option 41D : 6306803251572
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Q.7 Select the most appropriate option to fill in the blank.

Asia the largest continent on the earth.
Ans X 1.Have

o 2.is
5 3. Were
X 4. are

Question ID : 630680830081

Option 11D : 6306803251458
Option 21D : 6306803251459
Option 3 ID : 6306803251460
Option 4 ID : 6306803251457

Q.8 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.
Thousands of seabirds nestled in the small isle.

Ans X 1. Noimprovement
/5 2. nesting on
«” 3. nestled on

X 4. nest at

Question ID : 630680830043

Option 11D : 6306803251316
Option 21D : 6306803251314
Option 3D : 6306803251313
Option 41D : 6306803251315

Q.9 Choose the most appropriate antonym of the underlined word.
She despised him for the way he treated her.

Ans X 1.Flighty
X 2. Developed
/% 3. Idolised
«” 4. Loved

Question ID : 630680830233

Option 11D : 6306803252039
Option 2 ID : 6306803252038
Option 31D : 6306803252037
Option 41D : 6306803252040

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To turn up one’s nose at

Ans X 1. To mollify someone
«” 2. To regard with contempt
25 3. To ignore someone

X 4. To interfere in someone’s matter

Question ID : 630680830062

Option 11D : 6306803251388
Option 2 ID : 6306803251385
Option 31D : 6306803251386
Option 4 ID : 6306803251387
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Q.11 Select the most appropriate option to fill in the blank.
She is a good woman who goes her way to help others.

Ans X 1.along

" 2. out of

X 3.as

X 4.by
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680829996

6306803251135
6306803251134
6306803251136
6306803251133

Q.12 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.
I have filled feeders with seeds and nuts for | was a children.

Ans 4 1.since | was a child
25 2. No improvement
/5 3. for | were a children

5 4. since | were a child

Question ID : 630680830003
Option 11D : 6306803251162
Option 2 1D : 6306803251164
Option 31D : 6306803251163
Option 4 ID : 6306803251161
Q.13 Select the most appropriate option to fill in the blank.
this important juncture, we spoke to several experts from different fields.
Ans X 1.In
o 2. At
5 3.0n
X 4.To
Question ID : 630680830163
Option 11D : 6306803251771
Option 2 ID : 6306803251769
Option 31D : 6306803251770
Option 41D : 6306803251772

Q.14 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

The goals of community reforestation projects and those of funders doesn’t align always.
Ans X 1.of funders didn't aligned

5 2. No improvement
X 3. off funders didn't align

«” 4. of funders don't align

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680830004

6306803251166
6306803251168
6306803251165
6306803251167
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Q.15 Select the most appropriate option to fill in the blank.
And with modern technology, it would be possible to distribute leisure

Ans X 1.main
X 2. mainly
" 3. justly
X 4. just

Question ID : 630680830166

Option 11D : 6306803251783
Option 2 ID : 6306803251782
Option 31D : 6306803251784
Option 4 1D : 6306803251781

Q.16 Select the most appropriate option to fill in the blank.
They live in a big house in country.

Ans X 1.an
X 2. No article
" 3. the
X 4.a

Question ID : 630680830035

Option 11D : 6306803251282
Option 2 1D : 6306803251284
Option 31D : 6306803251283
Option 41D : 6306803251281

Q.17 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

Wear leather gloves while pruned the rose bush.
Ans X 1.when prune

25 2. when pruned
«" 3. when pruning

X 4. No improvement

Question ID : 630680830212

Option 11D : 6306803251957
Option 2 ID : 6306803251959
Option 3 ID : 6306803251958
Option 41D : 6306803251960

Q.18 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

The wind gusted, and a speck of dirt blew into my eye.
Ans X 1.an speck of dirt blew into my

«" 2. No improvement
X 3. aspeck of an dirt blew into my
75 4. the speck of the dirt blew into my

Question ID : 630680830000

Option 11D : 6306803251149
Option 21D : 6306803251152
Option 31D : 6306803251150
Option 41D : 6306803251151
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Q.19 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
Our new neighbour seizes every occasion to start a quarrel.

Ans o 1.Pickafight
& 2. Abolt from the blue
#< 3. Waiting in the wings
X 4. Anew lease of life

Question ID : 630680830017

Option 11D : 6306803251213
Option 2 ID : 6306803251215
Option 31D : 6306803251216
Option 4 ID : 6306803251214

Q.20 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

My great-grandfather was born during reign of Queen Victoria.
Ans X 1.while the reign

25 2. during a reign
¥ 3. during the reign

X 4. No improvement

Question ID : 630680829999

Option 11D : 6306803251147
Option 2 ID : 6306803251145
Option 31D : 6306803251146
Option 41D : 6306803251148

Section : Test of English Language and Comprehension 2

Q.1 Choose the word that can substitute the given group of words.
One who does something for the sake of money (bad sense)

Ans X 1. Chauffeur
" 2. Mercenary
5 3. Sculptor
25 4. Curator

Question ID : 630680830008

Option 11D : 6306803251184
Option 2 ID : 6306803251182
Option 31D : 6306803251183
Option 41D : 6306803251181

Q.2 Choose the most appropriate synonym of the underlined word.
Did the singer deserve such extravagant praise?

Ans X 1.Diaspora
/5 2. Reserve
«” 3. Excessive

& 4. Hillock

Question ID : 630680830150

Option 11D : 6306803251721
Option 2 ID : 6306803251723
Option 31D : 6306803251722
Option 4 ID : 6306803251724
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Q.3 Choose the word that can substitute the given group of words.
One strongly inclined to indulge in something repeatedly

Ans X 1. Criminal
& 2. Addict
25 3. Apiary
X 4. Gambler
Question ID : 630680830094
Option 11D : 6306803251512
Option 21D : 6306803251511
Option 31D : 6306803251510
Option 4 ID : 6306803251509
Q.4 The sentences given in each question, when properly sequenced, form a coherent
paragraph. Each sentence is labelled with a letter. Choose the most logical order of
sentences from among the given choices to construct a coherent paragraph.
A. Addressing water scarcity requires a multifaceted approach. Conservation efforts, such
as reducing water wastage and adopting effi cient irrigation techniques, play a crucial role.
B. Water, the essence of life, is under threat in many parts of the world due to growing water
scarcity.
C. Itis a global challenge caused by factors like overuse, pollution, and climate change.
D. To combat this crisis, efficient water management, conservation, and responsible usage
are vital.
E. Water scarcity leads to droughts, crop failures, and waterborne diseases, affecting
millions of people worldwide.
Ans 1. BCDEA
< 2. ABDCE
< 3.CDAEB
/5 4.EABCD
Question ID : 630680830005
Option 11D : 6306803251169
Option 2 ID : 6306803251170
Option 31D : 6306803251171
Option 41D : 6306803251172
Q.5 Select the incorrectly spelt word from the given sentence.
But life itself is messy and unceremonious; it cannot stop too long for death without losing
itself to the undertowe.
Ans & 1.undertowe
& 2. losing
25 3. unceremonious
X 4. messy
Question ID : 630680830195
Option 11D : 6306803251896
Option 2 ID : 6306803251895
Option 31D : 6306803251894
Option 4 ID : 6306803251893
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Q.6 Select the incorrectly spelt word from the given sentence.
A knock at the door interrupted him, and his face resumed its amiable expresion.

Ans X 1.knock
X 2. interrupted
«# 3. expresion
/5 4. amiable

Question ID : 630680830070

Option 11D : 6306803251417
Option 21D : 6306803251418
Option 31D : 6306803251420
Option 4 ID : 6306803251419

Q.7 Choose the word that can substitute the given group of words.
Being afraid of light, avoiding it

Ans X 1.Pellucid
«” 2. Lucifugous
25 3. Luminous
X 4. Lustre

Question ID : 630680830092

Option 11D : 6306803251504
Option 21D : 6306803251503
Option 31D : 6306803251502
Option 41D : 6306803251501

Q.8 Choose the correct antonym of the word given below.
Parched

Ans X 1. wilt

& 2. arid
«” 3. humid

X 4.dry

Question ID : 630680830190

Option 11D : 6306803251875
Option 2 ID : 6306803251873
Option 31D : 6306803251876
Option 4 ID : 6306803251874

Q.9 Rearrange the following sentences to form a coherent paragraph.
A. If the word is important, they can usually make a good guess about what it is.
B. What exercise is to the body, reading is to the mind.
C. There are different purposes for reading.
D. Children reading for their pleasure rarely stop to ask about the words.
E. One of them is deriving pleasure.

Ans X 1.BADEC
& 2. BCEDA
X 3.DBAEC
< 4. EACDB

Question ID : 630680830216

Option 11D : 6306803251973
Option 2 ID : 6306803251975
Option 31D : 6306803251974
Option 4 ID : 6306803251976
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Q.10 Choose the word that can substitute the given group of words
A person who presents a radio/television programme

Ans X 1.Brothel
5 2. Yeoman
& 3.

Anchor
25 4. Samaritan

Question ID : 630680830177

Option 11D : 6306803251828
Option 2 ID : 6306803251825
Option 3 ID : 6306803251826
Option 41D : 6306803251827

Comprehension:

Read the following passage and answer the questions given below.

Migration (even excluding the marriage migration) affects the status of women directly or
indirectly. In the rural areas, male selective out-migration leaving their wives behind puts extra
physical as well mental pressure on the women. Migration of ‘women’ either for education or
employment enhances their autonomy and role in the economy but also increases their
vulnerability. If remittances are the major benefits of migration from the point of view of the
source region, the loss of human resources particularly highly skilled people is the most
serious cost. The market for advanced skills has become truly a global market and the most
dynamic industrial economies are admitting and recruiting significant proportions of the
highly trained professionals from poor regions. Consequently, the existing underdevelopment
in the source region gets reinforced

SubQuestion No : 11
Q.11 Which word in the passage means the same as - transfer of fund?
Ans X 1. Autonomy

5 2. Vulnerability
" 3. Remittance
X 4. Reinforced

Question ID : 630680830057

Option 11D : 6306803251366
Option 21D : 6306803251367
Option 31D : 6306803251368
Option 41D : 6306803251365

Comprehension:

Read the following passage and answer the questions given below.

Migration (even excluding the marriage migration) affects the status of women directly or
indirectly. In the rural areas, male selective out-migration leaving their wives behind puts extra
physical as well mental pressure on the women. Migration of ‘women’ either for education or
employment enhances their autonomy and role in the economy but also increases their
vulnerability. If remittances are the major benefits of migration from the point of view of the
source region, the loss of human resources particularly highly skilled people is the most
serious cost. The market for advanced skills has become truly a global market and the most
dynamic industrial economies are admitting and recruiting significant proportions of the
highly trained professionals from poor regions. Consequently, the existing underdevelopment
in the source region gets reinforced

SubQuestion No : 12
Q.12 Choose a suitable title for the passage.
Ans X 1. Cause of migration from rural to urban areas.

«” 2. Gender Dynamics and Economic Implications of Migration
25 3. Dynamics of industrial economy

/< 4. Women's migration in the world

Question ID : 630680830054

Option 11D : 6306803251355
Option 2 ID : 6306803251354
Option 31D : 6306803251356
Option 4 ID : 6306803251353
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Comprehension:

Read the following passage and answer the questions given below.

Migration (even excluding the marriage migration) affects the status of women directly or
indirectly. In the rural areas, male selective out-migration leaving their wives behind puts extra
physical as well mental pressure on the women. Migration of ‘women’ either for education or
employment enhances their autonomy and role in the economy but also increases their
vulnerability. If remittances are the major benefits of migration from the point of view of the
source region, the loss of human resources particularly highly skilled people is the most
serious cost. The market for advanced skills has become truly a global market and the most
dynamic industrial economies are admitting and recruiting significant proportions of the
highly trained professionals from poor regions. Consequently, the existing underdevelopment
in the source region gets reinforced

SubQuestion No : 13
Q.13 From the passage it can be inferred that

Ans X 1. Migration of women for education and employment is beneficial from all aspects.
25 2. Women migration is more common than men’s migration.

«" 3. Migration helps in strengthening the economy of a place but at the cost of losing its
human resource.

/5 4. Migration is beneficial for economy.

Question ID : 630680830058

Option 11D : 6306803251372
Option 2 ID : 6306803251369
Option 31D : 6306803251371
Option 4 ID : 6306803251370

Comprehension:

Read the following passage and answer the questions given below.

Migration (even excluding the marriage migration) affects the status of women directly or
indirectly. In the rural areas, male selective out-migration leaving their wives behind puts extra
physical as well mental pressure on the women. Migration of ‘women’ either for education or
employment enhances their autonomy and role in the economy but also increases their
vulnerability. If remittances are the major benefits of migration from the point of view of the
source region, the loss of human resources particularly highly skilled people is the most
serious cost. The market for advanced skills has become truly a global market and the most
dynamic industrial economies are admitting and recruiting significant proportions of the
highly trained professionals from poor regions. Consequently, the existing underdevelopment
in the source region gets reinforced

SubQuestion No : 14
Q.14 What is the tone of the author in the passage?
Ans 4 1. Reflective

25 2. Critical
/5 3. Casual
& 4. Pessimistic

Question ID : 630680830056

Option 11D : 6306803251361
Option 21D : 6306803251362
Option 31D : 6306803251364
Option 4 ID : 6306803251363
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Q.15

Ans

Comprehension:

Read the following passage and answer the questions given below.

Migration (even excluding the marriage migration) affects the status of women directly or
indirectly. In the rural areas, male selective out-migration leaving their wives behind puts extra
physical as well mental pressure on the women. Migration of ‘women’ either for education or
employment enhances their autonomy and role in the economy but also increases their
vulnerability. If remittances are the major benefits of migration from the point of view of the
source region, the loss of human resources particularly highly skilled people is the most
serious cost. The market for advanced skills has become truly a global market and the most
dynamic industrial economies are admitting and recruiting significant proportions of the
highly trained professionals from poor regions. Consequently, the existing underdevelopment
in the source region gets reinforced

SubQuestion No : 15

“If remittances are the major benefits of migration from the point of view of the source
region,

Ir‘{'the above sentence, the highlighted words refer to

«" 1. The region from where the people have migrated out.
Z5 2. The source of economic growth
#5 3. The region of industrial development

25 4. The region where people have migrated into.

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680830055

6306803251359
6306803251360
6306803251357
6306803251358

Q.16
Ans

Comprehension:

Read the passage carefully and select the correct answers for the given blanks out of the four
alternatives.

With the pace of developments in online technology, the relationship 1 the operation
and administration of education and convergence culture bringing the online and the offline

2 in ever 3 -complex ways, and the increasing sophistication of the uses made
of technology, it is imperative 4 schools keep abreast of current thinking 5
internet safety.

SubQuestion No : 16

Select the most appropriate option for blank(4).

& 1.than

25 2. there

" 3. that

5 4. then
Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680830033

6306803251273
6306803251275
6306803251276
6306803251274
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Comprehension:

Read the passage carefully and select the correct answers for the given blanks out of the four
alternatives.

With the pace of developments in online technology, the relationship 1 the operation
and administration of education and convergence culture bringing the online and the offline

2 in ever 3 -complex ways, and the increasing sophistication of the uses made
of technology, it is imperative 4. schools keep abreast of current thinking 5
internet safety.

SubQuestion No : 17

Q.17 Select the most appropriate option for blank(5).
Ans X 1.was regarding
«# 2. regarding
/5 3.isregarding
25 4. are regarding
Question ID : 630680830034
Option 11D : 6306803251280
Option 2 ID : 6306803251278
Option 31D : 6306803251277
Option 4 ID : 6306803251279
Comprehension:
Read the passage carefully and select the correct answers for the given blanks out of the four
alternatives.
With the pace of developments in online technology, the relationship 1 the operation
and administration of education and convergence culture bringing the online and the offline
2 in ever 3 -complex ways, and the increasing sophistication of the uses made
of technology, it is imperative 4. schools keep abreast of current thinking 5
internet safety.
SubQuestion No : 18
Q.18 Select the most appropriate option for blank(2).
Ans X 1.another
& 2. altogether
25 3. other
o 4. together
Question ID : 630680830031
Option 11D : 6306803251266
Option 2 ID : 6306803251265
Option 31D : 6306803251268
Option 4 1D : 6306803251267
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Comprehension:

Read the passage carefully and select the correct answers for the given blanks out of the four
alternatives.

With the pace of developments in online technology, the relationship 1 the operation
and administration of education and convergence culture bringing the online and the offline

2 in ever 3 -complex ways, and the increasing sophistication of the uses made
of technology, it is imperative 4 schools keep abreast of current thinking 5
internet safety.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank(1).
Ans  # 1. between
X 2. against
/5 3.through
X 4. over
Question ID : 630680830030
Option 11D : 6306803251261
Option 21D : 6306803251263
Option 31D : 6306803251264
Option 4 1D : 6306803251262
Comprehension:
Read the passage carefully and select the correct answers for the given blanks out of the four
alternatives.
With the pace of developments in online technology, the relationship 1 the operation
and administration of education and convergence culture bringing the online and the offline
2 in ever 3 -complex ways, and the increasing sophistication of the uses made
of technology, it is imperative 4. schools keep abreast of current thinking 5
internet safety.
SubQuestion No : 20
Q.20 Select the most appropriate option for blank(3).
Ans X 1.much
X 2. lesser
X 3. less
" 4. more
Question ID : 630680830032
Option 11D : 6306803251272
Option 2 ID : 6306803251270
Option 31D : 6306803251269
Option 4 ID : 6306803251271
Section : Test of Hindi Language and Comprehension 1
Q.1 = 2y g 2rex o1 vataar 21 719 w1
forRor
Ans o 1 3=
X 2. gRa=
X 3. g&ies
X 4. Fforr
Question ID : 630680832930
Option 11D : 6306803262670
Option 2 ID : 6306803262669
Option 31D : 6306803262672
Option 4 ID : 6306803262671
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Q.2 fA=fafad uwn A, 2y v =R el d @, 39 frerea 1 wg= &3 st & 7 Anifts & oref et
IS U @ A<k T gl
Il TR hideTe ht Sic

Ans o 1. SORTeR T FRURTeR Bt st
X 2. =ity veer |
X 3. gferg &1 geedn gieT
X 4. IR & g O ARAT

Option 41D :

Question ID : 630680830718
Option 11D : 6306803253950
Option 21D : 6306803253952
Option 3 ID : 6306803253951
Option 41D : 6306803253949
Q.3 Ry 7y arera | 3RT R 1 T Fh Kb = A gfed w1
foraTar & U=l sl Sitgwt 39 i Y srrasgehan gl
Ans 7 1. G fog
X 23
X 3. @
X 4.9
Question ID : 630680830837
Option 11D : 6306803254404
Option 21D : 6306803254402
Option 31D : 6306803254403
Option 4 ID : 6306803254401
Q.4 fr=afaf@a e & sAwT 2reg &1 a9 &R
urs
Ans X 1.$AMER
X 2 Frar
o 3. 31T
X 4. e
Question ID : 630680830809
Option 11D : 6306803254300
Option 21D : 6306803254297
Option 31D : 6306803254298
Option 41D : 6306803254299
Q.5 Ry g arera # 3R Ao @1 T+ wF Reh == A gfd &R
qTER o oritfl F FRUT ReM A dhaer ______ T=a &t ST 1
Ans X 1.83Tx
X 2. goft
X 3.
o 4. a9
Question ID : 630680830709
Option 11D : 6306803253916
Option 21D : 6306803253914
Option 31D : 6306803253915

6306803253913
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Q.6 f=fofae area d Yaifra 2real # e 710 o= el v o1 a7 =¥ al wiE Ffe i &, at
i PR T@ & T
R & Tl @ fay fSaeursi @1 §d YR &- SiTS i A EH|
Ans & 1. R & TR & oIy Shfdentursi= &1 9o STUR & 512 ot JieH|
75 2. R & iUt & iy SHaehiuTs o Je SUR 8- TS &1 Hiaw |
25 3. R & AfIeT & oIy ShaertuTs &1 Je SR §- TS &1 Hiaw |
XA g
Question ID : 630680832925
Option 11D : 6306803262649
Option 21D : 6306803262650
Option 31D : 6306803262651
Option 41D : 6306803262652
Q.7 f=fafaa aeg &1 aga A 71 HI)
ueft
Ans X 1.fquer
o 2. U
X 3. R
X 4. ue
Question ID : 630680830682
Option 11D : 6306803253816
Option 21D : 6306803253815
Option 31D : 6306803253813
Option 41D : 6306803253814
Q.8 F=fafE@d un A, Ry 7y ar fawenl 7 4, 39 fRereu &1 9a=1 & o1t & 71 wtentih & srf &t
2y U @ =u~h HRaT gl
SRISIT AT g9 <hl =Tl
Ans X 1.7ehdl i Ufaaifiar & ST e
X 2. 9 9 gden § I<hiof gt ST
o 3. Tl & TR & AT Y BT IS
X 4. &9 6 aE T I BT BT
Question ID : 630680832835
Option 11D : 6306803262305
Option 21D : 6306803262308
Option 31D : 6306803262307
Option 41D : 6306803262306
Q.9 fRy g arera | 3T R 1 TAT ek Reh R A gfed el
agUs_____ " ARG« alg @I al
Ans X 1.3
X 2.9
o 3. W
X 4@
Question ID : 630680832957
Option 11D : 6306803262770
Option 21D : 6306803262772
Option 31D : 6306803262771
Option 41D : 6306803262769



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.10 Ry g e A IRAa Fovan 1 T ek Reh @ Y gfid w1
TESATT YR g AT R e g AT Aie _____

Ans X 1.@m@r

X 2. fora
3.
X 4. ggdr
Question ID : 630680832955
Option 11D : 6306803262761
Option 21D : 6306803262762
Option 31D : 6306803262764
Option 41D : 6306803262763
Q.11 fA=faf@a uy &, Ry 71y ar fereal & |, 39 faereq o1 9a=1 w2 St & 1 Al & aref &t
%y U @ =u~h AT gl
STHH & IR @SR # 9fedh
Ans o 1. 0% gEied § enciony gt gEied | thd ST
X 2. TS At T
#< 3. STAE ¥ @SR i auf g
X 4. @SR o fafd s
Question ID : 630680830717
Option 11D : 6306803253947
Option 2 ID : 6306803253948
Option 31D : 6306803253946
Option 41D : 6306803253945
Q.12 A Ry 7y 2reg 1 vatgarh g 7ird AR
dgHT
Ans X 1. 37eH
o 2.2
X 3¢
K 4.
Question ID : 630680832889
Option 11D : 6306803262516
Option 21D : 6306803262513
Option 31D : 6306803262514
Option 41D : 6306803262515
Q.13 =l e # Yaifeha gl d Jfe a1 e FRxfRd fReea & av= & ok Fif e i g, @t
FE IR T T
3 & 3 werer Ssft & 39 varat o awear Rarh oik 9t < &6t 59 e aHaar @
R A
Ans o 1. 3120 g foh AETeT STt & 59 TATE! hl Aoherar et SR IR gfFan ot 39 vaTag TR §
BeHRT A
X 2. amar & fo were it 3 37 yaTal ol ehetar et ofR TR gt Y 59 waraE aeen @
TehRT fAa
K 3P TIE
25 4. 3 ¢ fon FgTeT Sft 3 59 UATE ol Aherd Hieit SR ORI g ot 39 YaTaE ST O
BTHRT fe|
Question ID : 630680830888
Option 11D : 6306803254597
Option 21D : 6306803254599
Option 31D : 6306803254600
Option 41D : 6306803254598
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Q.14 fA=fafEa v 4, Ry 10 ar el d |, 39 faee o1 999 o st R 1y e & oref &t
8y U @ =uwh HRaT gl

hetol UR eAR TGAT
Ans X 1.3 d A T

25 2. I gt S
25 3. 3TUAT % Uehe e

o 4.3@ 6 O H §F gRoT e

Question ID : 630680832960

Option 41D :

Option 11D : 6306803262782
Option 2 ID : 6306803262784
Option 31D : 6306803262781
Option 4 ID : 6306803262783
Q.15 F=fafEa us 4, Ry 7y R Rereai # 9, 39 faeeu o1 9o+ & w1t R 1y ggrer & s &t
42y T @ =u~h a1 &l
RTITST hTAT AT
Ans X 1.@f g
o 2. 3 forgen
X 3. = e
X 4. @dgen
Question ID : 630680832959
Option 11D : 6306803262780
Option 2 ID : 6306803262777
Option 31D : 6306803262778
Option 4 ID : 6306803262779
Q.16 F=faifEa 2reg o1 a5 e 71 d HR
)
Ans X 1.3
X 2. feg
5 3. sneH
o 4. I
Question ID : 630680830849
Option 11D : 6306803254450
Option 2 ID : 6306803254451
Option 3 ID : 6306803254449
Option 41D : 6306803254452
Q.17 fA=faf@d ereg w1 faeis oree w1a &R
s
Ans X 1.3a
X 2.3
o 3. afaor
X 4. fommr
Question ID : 630680830729
Option 11D : 6306803253994
Option 21D : 6306803253995
Option 3 ID : 6306803253996

6306803253993
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Q.18 g g arerr # IR fAwoT o1 T8 Tk s = Y gfef R
A frer S @ T safeu ag A ST AT 2l
Ans X 1. IRR
X 2.a
X 3.9
o 4.

Question ID : 630680832916

Option 11D : 6306803262616
Option 2 ID : 6306803262613
Option 31D : 6306803262614
Option 4 ID : 6306803262615

Q.19 FfafRd aea & Yaifra el 7 Ffe a7 = Ffe=fRd fawen o au= w3 it Fi g =i &, @t
‘g Ffe T & T
e @1 fawg ag @ 6 uget Y g1 |, a1 | g1+ arelt &fd 3iiR 3R uReTa &5 o1 e 31

Ans X 1. a1 @1 v 9 g 1o ugel hl JoreT , 916 I B9 aTe! &7l SR SHeT UaTd Q15 TS 96l 51
o 2. f&iar o v a8 & o uget &t g1 3, 91 © g1 areft &t 3R 38T UTa &5 31TST 9l &1
X 3. R&iar o1 fawg ag & o6 uge B g 7, a1g @ g9 arelt ercft ofk gwent nra & ot TgT &1
X 4 aEgRaEg

Question ID : 630680830721

Option 11D : 6306803253962
Option 2 1D : 6306803253963
Option 31D : 6306803253961
Option 4 ID : 6306803253964

Q.20 fA=fafEa area J Yaifera 2real J Ffe 79 R JRe=fea fRereu = ag= &3 aft wE g i 8, at
‘@i Jfe 7E & A

AR at wnfRe o1 fAwfor deifeam srufq @fas d« @ & glar & dfra & R 9 w_sr dw d
uReRfad &&= a=1 & gfeha 3R Agmer™ gt 8l
Ans X 1.aEICAEE

X 2. 32 qt wnfRes ol fAmfor dgiform srarfq @t a1 @ & gtar & fh 38 iR S wfasr dar &
GRafdd ST T2T € GfReher SR AT hrH BT 2

o 3. 3 At wifeas a1 fAmTor deifermm srufq @fhet e © gt giar & @ifch S iR & @fae der A
gRafdd e 3T &1 Hfher SR HET &H BT 81

X 4. 3 q e ot fAHfoT dgiforam sruifd @it det & g1 81T & aifch 39 fthe @ @it der &
aRafda et ser € gafther 3R T B g 81

Question ID : 630680830887

Option 11D : 6306803254596
Option 2 ID : 6306803254594
Option 3 ID : 6306803254595
Option 4 ID : 6306803254593

Section : Test of Hindi Language and Comprehension 2
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Q.1 Y 7y aremisr & fAg i 2= 79 Hifsigl
Sit ggafia T @t

Ans X 1.3M02m
X 2. srdafes
o 3. sfgwy

X 4. 3w

Question ID : 630680832953

Option 11D : 6306803262754
Option 21D : 6306803262753
Option 31D : 6306803262756
Option 4 ID : 6306803262755

Q.2 fA=fafaa aral &t &, @, 7 3R T & Aaet @ shHifeha farar mar @ st 33 e @ g @
URFITh/aTer ST & foheg 3979 & Qe oloret sifalke’  ofik 39ah fomm oft s /amera et @i
fr=fead faereal A @ 39 erfafk<h e o1 =@ w11

. el I ORI [RToRT @it af STt i ag 39k o1u+ B fafte ar o

@. 5t faee T dreis =em mar ur ik ol forelt sitwr e @

7. 2} e ot oft 1 g ue oft iR 9ER grRET

9. Gk i1 # 1R Y dhR i, 519 @t ataet, ¢ ffifdat ik st onfy oot 3= e

Ans #1.9
Xoo
X3 &
Xaia

Question ID : 630680833025

Option 11D : 6306803263032
Option 21D : 6306803263031
Option 31D : 6306803263029
Option 4 ID : 6306803263030

Q.3 F=fafEd 21 o ey e A1 11
I A

Ans X 1.famE
o 2. T
X 3.3ugh
X 4. Tt

Question ID : 630680832891

Option 11D : 6306803262522
Option 21D : 6306803262521
Option 31D : 6306803262523
Option 4 ID : 6306803262524

Q.4 FfafEa are &1 ag v ara &, s @ g 31 afk Fi 3fe 7 &, ot R R i & 7
TSRI & g aTet giféah o e fgwis) uisan gra & ot mizal & gwa wman e 3

Ans 1. 99 ST ahd 9
X 2. oy atsa g 7 oié misat
X 3R TEE
< 4. ORI o 3 a1 giféen o forem

Question ID : 630680832942

Option 11D : 6306803262715
Option 2 ID : 6306803262714
Option 31D : 6306803262716
Option 4 ID : 6306803262713
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Q.5 F=afafEa dfza arrin & area == =1 9 sma «ar ghm?
1. Sie R deaed & gl at =a-33a ot
2. whier A= Y FHeu= T 7 g Ag
3.5¢ g I Sft agar g
4. R iz 6 e o1 wirdl g AfhT a

Ans  # 1.2413

X 2.4132
X 3.3412
X 4.2143

Question ID : 630680832861

Option 11D : 6306803262405
Option 21D : 6306803262408
Option 31D : 6306803262406
Option 41D : 6306803262407

Q.6 2w T arermiar & fAQ Grfer 2reg st HifSTI

StgaT g A gt

Ans X 1. rfgEAT
o 2. 39
X 3. orcfia

X 4. sEgE

Question ID : 630680832910

Option 11D : 6306803262589
Option 21D : 6306803262591
Option 31D : 6306803262592
Option 4 ID : 6306803262590

Q.7 F=fafEa @fea arerin & area S3==T 1 9 sha a1 ghm?

1. GazaT & quie d g7 o 514 & o

2. 3EHT # IS gHEd! gerail i daee, sHht
3. 39 g1, smuerai & siarR ot @l

4. 511 it o @ et yRIS Ak Sfa=

Ans  # 1.2143
< 2.3413
X 3.4123
X 4.1324

Question ID : 630680830741

Option 11D : 6306803254040
Option 21D : 6306803254038
Option 31D : 6306803254037
Option 4 ID : 6306803254039
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Q.8 fmfafad area @1 ag wnT 79 &, e i g 81

ST9 g1 3 HIe Wethiwd &t gien & fog 81z 3, a9 Affa dr = 3o 999 & fOg gar @@t
@Teftu= AggH ghm, iR ofe deh 89 59 AT 8 g &

Ans X 1. Hifh o9 9% §H 59 ST ST H &
o 2. 0 THY & oY §AR &1 @refiu wegd g,
X 3. &y s d, @ AfgadR R
X 4. 519 g1 31 Il W= bt gHal

Question ID : 630680830866

Option 11D : 6306803254516
Option 2 ID : 6306803254515
Option 31D : 6306803254514
Option 4 ID : 6306803254513

Q.9 F=fafEd arerl &t &, @, 7 4R u & Aad A sruiferd forar mar & it 3¢t ovr @ T e
URFITh/aTerR ST & foheg 3979 & Qo oloret “sifale’ g ofik 39ah fomm oft R /amera et @i
fr=fead faereal A @ 39 erfafk<h e o1 =@ w11
. el & UTH AfAI, e 3R @fa & 3= PR =
@. uga &l Agarhian oAt sHiferg o ur i et | a @ @, agey ok s A

ag.
1. A} & A1 g MU SR Sita J 7% g1 4T 9.
. 1 G&1 R ar Ut fok g2fer srmarw g 'arg-arg’ e arferat aRA &ra &

Ans #1717
X2
X 3.9
X4a

Question ID : 630680830653

Option 11D : 6306803253703
Option 21D : 6306803253701
Option 3 ID : 6306803253704
Option 41D : 6306803253702

Q.10 fA=faf@d eree & sFaTefT 21 1 999 H3|
aref

Ans X 1.faw
o 2.
X3
X 4. S

Question ID : 630680830684

Option 11D : 6306803253824
Option 21D : 6306803253821
Option 3D : 6306803253823
Option 4 ID : 6306803253822
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Comprehension:

frferfea meriar & SR IR uTg Uy f&Q 7Y €| TerieT eht eTgEe Ug dT U UM o IR fadhenl § &
gt faene |

T Al o folg TRadt 9 & vl &, wifch ST AE & AU & &1d at 9d &1 3 91 & foh Qep ot I8 Bter
BT 8, 3R TERT I8 Sa<) T8 g1 STert 82 TIet ehi [T H oI SaTal oh oens STl 8, theast 399
TEd St 81 STHas! & Sid a9 [Si=g AW & aR # 919 38 814 8, TR &l ST HiF ¥ 9§ 3eh! §fe
R AT g1 SR 37T 30 Hehed H TATR g1 e UT 3@ 6, T STTUh! Ga o Uil hoR o a1 a1ey |
IETEROT & oG, 1T AT T & foh SITST & ek 3 e, WAfch] T g (-iehle UTd, af &ald Aggd
XA & TSI TTATEId hl GG HERd el Gl (AT TG | Shg T ST & T e ol o e & T aid)
e W g # AR & UthaR YStel Fia-aie g el § fob I1, sa=a a1 yAvT Hefelt dehed!
1 G ¥ o fIg Sga g

1. devadet shgd & o orom OIS ot Y Siueht SRt ofedt oR afid R v # AeeR g 81 3
Yo off STt Sro e i SR Fe o g Uiewnfed s Tehelt g1 BT, i aic dhgd & o Yoo ot
T e H GaY Hg<aqui U8 & foh g3 ol e o ol SIE-BIE Siid &1 SiHe o | STt 1 ST IR 81
§U, 3 el 51711 BR GIE Ueh T8 SHIG aens SATelT &

SubQuestion No : 11
Q.11 eriar & snuR R, Fr=faifRe arera & ugs, Yaifohe 2ree &1 3fAa vafaar ereg 7@ w1

at 3 a1 € o6 g ot 7 B glar 8, Sk guw gg Srad T 81

Ans X 1.fowR
X 2.3
W 3.7
X 473
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680830774

6306803254162
6306803254164
6306803254161
6306803254163

Comprehension:

fafafea meri & smur W ufg us few 7 &1 Merier et eaydes ug auT U U & IR fadhed § 9
g frere T |

T AN o foIg et 7 &) TondT &, AR su AR S qry at a1d at qa &1 3 a1d € foh Uap dt 78 Bier
BT 8, 3R gTRT g SiHat T8 81 SHa g% UTel i weiTd | O gamal ot et STt 8, theadt 399
e it &1 A & S T [ @ & IR # T 38 8 &, HRast T STRTHT Hi ¥ ¥ 3T g
R AT &1 SR 31T (U= Yhedl H TR &l ohe UT 3@ &, F S1TUeh! g & Ufa ok gl gi1 anfgyql
ITER0T & oIy, 31Ty I Whad & R S1TST & hERd & hieTl, wifche T3 g1 (+ehlel UTd, df &aTd Hggd
Y o TSI TATEId T YT hed el ol [0H IFTCG | ThgH hT 3111 & foh g it e et § 7 g
he We Hariet # AT &t TR UStdT A1d-aT-c GSITa &l 6 foh I, ShelRd a1 YAoT eeft Sehed
I OXT e & g SgaR gl

2. §A hed & o 3rue fOrr-S71 o1 1y SMUeh! 31ue oedt R Fuafid AR Ra # Hee R giar &1 38
T Fo ot STUhT ST &Y I 3R TG o oIg TiTed e Tehel! &1 3T, et ITie hgd & foh Hehed al
R A A Ga9 He<aqul I8 & foh & i e & SoTd SIS-DIE! Siid 1 SATHE o | ST 1 SIS IR a1
§Y, 3 &l 51711 BR GG Ueh 8 SHHIG oehs SATelT B

SubQuestion No : 12
Q.12 Terier & STYR UR I fAereq o =a= e forad fRar mar g adt 81

Ans & 1. S R T Y erd B O qaral ot ciene STt B, theat S g it @
X 2. 3. i e & SIgER SR -5 a1 ATy SR dedl R Fafid TeR TE # AR gl @
X 3. 3. d5aA & SITHR Gg H HIEA o SO DICI-BILT ST e SAT& T A8y
X 4. &5 e ot oS Framl @ ieen anfey

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680830776

6306803254170
6306803254169
6306803254172
6306803254171
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Adda247

GET IT ON
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Comprehension:

frferfEa meriar & MR WR uta U faQ 7Y €| Terier eht AT gEeh Ug deT Udich U o IR fadhenl § &
&l faeed A1

T A o oI tast R & kT &, Aifch ST AR S AT &l &1d ot 99 &1 3 91 & foh gap ot g Bter
BIAT 8, 3R 38T I8 SHaR! 61 &1 STHa) 8% ATl i [T H 51 Gamal el eeng STl 8, Tres) 319
G &t &1 STHEK o Sid I Sig AN & IR A 19 38 814 6, Heas! &l STRHT Hi ¥ ¥ Il g
R AT &1 SR 31T 37U Hehed| A Wf 81 e UT 38 &, T STTUh! Ga o Uil ShoR g1 g1 a1fe gl
IaTex0T & g, a1y A Thad € O ST § heRd Y7 e, AfchT T 18t fHiehTer urd, ot gara Aege
A & TSI TLATEId hl GIE HERd et I (A7 TATG | Shg T STIRM & Tk e ol v frae & T e
Fhe Ve gHafid # A & UitheR gsten Hia-amie gema 3t § foh a1, sva=a ar yor St deredt
I QX1 e & forg Sgar ghmi

<. d=9 hea & o Srum -1 a1 a1 3nueh! 3107 wredt R Frafid ok e | "R giar 21 &
T o ot smueht STua Fet i 3R Fg & forg Ticfed o Tedlt &1 2. et aie wed & o Tenew @t
T e H gad Hg<aqui U8 & fh g3 ol e o e SIE-SIE Sfid a1 $ie o | 57t e ST R T8t
8T, 3 el 81111 B Y6 Toh 3 IHHIG AAehe ATelT 5|

SubQuestion No : 13
Q.13 ugd Terien & forg 3fRa 2fifa @1 ag=r &3
Ans o 1. Tchodl B T8d ST TR

X2, AR @ ot
X 3. =T et weat
X 4.3@ Y T wRad

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680830775

6306803254168
6306803254166
6306803254167
6306803254165

Comprehension:

e meriar & SR WR uf9 wet f&Q 7 81 Terier st eaydes Ug Ut Uelch U & IR fadhedt # 9
T forered g |

TS AN oh oI Ta] IR 81 TerdT 8, Wfch 39 Agi & AU &1 91 df 9 &1 3 I1d 6 foh Gep df T8 BieT
BIdT 8, SR GERT I8 STHa! 81 &1 SHa< 62 UTel Sl BT | S GalTal ohi oieh STt 8§, Theadt 319
6T &l &1 STHE o Sid I [Sig T & IR A 19 38 814 6, Heas! &l STHTHT Hi- ¥ ¥ Iehl gfe
R AT &1 SR 31T 37U Hehed| H Wf 81 e UT 38 &, T STTUh! Ga oh Uil ShoR g1 g1 Mg g
IaTex0T & forg, oy A Thad & O ST § heRd Y& e, AfchT o 18t fHihTer ura, ot aaima Aeg™
A & TSI TTATEId hl GoIg HERd et I fTH TG | ShgH T STIRM & o6 e ot v fgel & T arid)
Fe Re gafidt & aaifaam & ither dste Hid-are gema &t € foh 3, swvea ar yaor et deredt
I QX1 e & g dgar ghmi

1. de3aet thed & foh 31 fOrg-Si ot 91 3Tl 31+ dieal R fRafid 9ok e & AeeiR giar 81 18
T o ot st S Fedt i 3R TgA & forg Ticafed e Tt &1 . it smie wed & o Terew @t
T A § Gad Hg<aqul I8 & foh e il hie- o SoT BIE-BIE] Siid o $fTHe o | ST 1 SIS QR 81
§U, & el BT | BR GG Ueh I3 SHIG olehs 3Tl

SubQuestion No : 14
Q.14 TELT & ATYR UR, I fAehed ol T+ &3, S1t IR fAreere ufqurfea sw=ar g1
Ans X 1.8 TS gag FRIR0 T TETE el §
o 2. 519 & 37U 1Y Hehed UR 31T 81 g UTd, af 3Rk @ o U ok 8t Sird &
25 3. BH IR TeR] ! Aol A FHehre &d € 3R R a1 A udrd 9 39 @ d &
X 4. oAl g I8 ST § Y gH A © fhd N ok fthetar & fohaat e gt w8 €

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680830777

6306803254174
6306803254176
6306803254173
6306803254175
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https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Comprehension:

ffoifEa meria & SR Wk ufg wet feQ 7 &1 Terier st ermydes ug Ut Ul U & IR fadhed # 9
g forered g |

TS AN o oI Tast 79 81 TerdT 8, Afch ST A h AT S a1 dt ad &1 3 I1d ¢ foh Gep df T8 BieT
BIdT 8, SR GERT I SHa) 81 &1 A< 8% UTel hl YBaHTd | O gamal ot e STt 8, theadt 31
BT &t &1 STHE o Sid I fSig A & IR A 99 38 814 &, Heas! &l STTHT HiF ¥ ¥ Ihl g
R AT &1 SR 31T 31U Yhed H TATR g1 e UT 3@ 8, dF STTUeh! g & Ufd R gl g1 a1gy|
IaTex0T & forg, a1y A Thad € O ST § HeRd Y& e, Afchl T A8t Fiehrer ura, ot aama Aggy
A & TSI TATEId hl G HORd et I fATH TG | chg AT ST1RRT & o6 e ot avs frgel & T arid)
Fe Qe gafidt & gaifaam H ither dSten Hid-are gema 3t € foh a1, svera ar ymor et deredt
Y TR e o g g ghm

31, dedt hed & fob S1um -5 ot arer 31Ut 3ot deal R FMafia FoR w@H § #eeTR giar §1 57
T o ot STuH} U Feal Y 3R Tgt & forg TicfRd e Tt &1 . it smie whgd & o Tenew @t
)T <A A GaY AE<aqUi I8 & foh Ga ol i oh IoiTd BIEH-BIE ST T 3HE o | ST 1 ST IR 61
8Y, 3 el g7 1 BR GG Ueh 13 SIS olehs 3Tl 3

SubQuestion No : 15

Q.15 erier & YR WR, F=fafe@d arera | vgeh, Yaifcha 21 o1 34 faeia ereg 7119 &1
T4 8 F i sTueht SuA dgal Y ST FeA & forg diemfgd o Jehdt 81

1 6306803254178

Ans X 1.7k

o 2. Edicied

X 3. ergufed

X 4. 3Ifed
Question ID :
Option11D:
Option 2 ID
Option 31D :
Option 4 ID

1 6306803254177

630680830778
6306803254180

6306803254179

Comprehension:

2 feg 7 uet 7 e 21eg Bi Ry 1 8, Te Reh ®IM & IR fdehed few g &1 37 9 # 9 &l 9
e feh e 1 gfef e

g Y emah (1) I T B fiRrae @ 7 dhaot Sifafderar & g Tene (2) gt 8, Ifh
AT 1 Sitaq off penfaa gl @1 81 M gAr () B urd it off ofR g9 w=1 A g1 eieet st off|
FATA AR (4) & T Wreps IehT U< ¥R SITaT 7| @fchT 319 W c-cherele & TR § TRt &
____(5) & forg lg s =8 a3

SubQuestion No : 16
Q.16 =6 T (3) & forg Iugh fased @1 T+ RS9l
Ans X 1. 3mfeat

1 6306803262899

X 2. Fratear

o 3. TSI

X 4. reTaret
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 41D

1 6306803262897

630680832991
6306803262898

6306803262900
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Comprehension:

2 feg 7 uet # 3w ez BiT Ry 1Y §, Tde Reh M & IR Aeen RE Mg &1 A aRi G &l o
e feh T I g e

ufgrat Y sm (1) & T § fR1ge § 9 Fae sifafayar & g dae (2) gt g, Ifch
AT T Sita oft wenfa g a1 81 RaT gA R (3) # urs Sineft off ok gAR wi A € et aert off)
FATH A fRR ___ (4) & g Wreps IehT U< ¥R SITaT 7| AfchT 31q Wi c-chersle & BR § TRt &
— (5) & forg g Stvrg 1 a1

SubQuestion No : 17
Q.17 =6 @ (2) & fog Iugh fased @1 oo+ RS9l

Ans X 1.&de
o 2.9
X 3. ugfa
X 4. gy
Question ID : 630680832990
Option 11D : 6306803262893
Option 21D : 6306803262896
Option 31D : 6306803262894
Option 41D : 6306803262895
Comprehension:
=2 g 7 uet F e 21z Bi Ry 1 &, e Reh M & R e Re g &1 A ki A Y sl @
e foh T 1 gfef )
uferat 6t e (1) & T & fR1ge & 9 Fhaer sifafdear & fog dae (2) gt g, Ifwh
AT 1 Sitae off eI 81 28T 81 TRaT gAR (3) H uTg STt off SR AR o=F 7 &Y afee e off|
31T F faaR (4) & T WA ITHT U ¥R AT AT| AR 319 HiHe-chepdic & TR | MRl &
—(5) & forg anis sTe 81 ol 81
SubQuestion No : 18
Q.18 R=h @I (5) & fog Iugh faeed @1 o= RS9I
Ans X 1.3
X 2.8
X 3.3ER
o 4 T
Question ID : 630680832993
Option 11D : 6306803262906
Option 2 ID : 6306803262908
Option 31D : 6306803262905
Option 41D : 6306803262907
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Addal247

GET IT ON
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Comprehension:

=2 g 7 uet # 3w 21z Bt Ry 1Y &, e Reh M & IR Rfeen Re g &1 A ki A g sl @
e feh T I gfef )

gt i emer (1) 1 T B fiRrae @ 7 dhaot Sfafderar & forg Tene (2) gt g, Ifwh
A 1 Sitae ot Tenifad g1 @1 8| TRaTgAR ___(3) # Ui Sirelt off ofR g1 o_f & g aferet st off|
AT A SRR (4) & g Wrehs IehT U< ¥R SITaT 7| AfcheT 31q Wdc-chersle & BR § 1R &
—(5) & forg g StvTg 1 a1

SubQuestion No : 19
Q.19 R=s & (1) & fog Iugh faeea @1 o= RS9I

Ans X 1.3
X 2. qgo
o 3. Tefaa
X 4. @l
Question ID : 630680832989
Option 11D : 6306803262892
Option 21D : 6306803262890
Option 31D : 6306803262891
Option 41D : 6306803262889
Comprehension:
TR § oo s els Ry g, 7da R M & IR e Ry MU I s aRi A S &
farereg Rk e ol gfef e
ufert 6t s (1) & T & fR1ge § 7 Fhaer sifafdear & fog dae (2) gt g, Ifch
A T sitae off wenifaa g1 <8 81 ke gAR (3) B urs STt off SR AR ==Y F & aiee s off|
31T H faar (4) & T WA ITHT U ¥R AT AT| AR 319 HiHe-chepdle & =R H 7MRaT &
__ (5) % g g S g S B
SubQuestion No : 20
Q.20 f<h wIT (4) & fAg Iugeh e @1 ag= fifSgl
Ans X 1.%d
X 2. mh
" 3.3
X 4.9
Question ID : 630680832992
Option 11D : 6306803262903
Option 2 ID : 6306803262901
Option 31D : 6306803262902
Option 41D : 6306803262904
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